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But it states both here and there; ‘He lent him with collateral’

OVERVIEW

The Xn3 states that we cannot reconcile the view of X'"1 (who maintains that mbn:
Mown %y is a n"'w) and our mwn (which states that he is a w"v) by establishing our
7Iwn by a X127 NYwa KW 1own and the ruling of X"1 by a X0 nywa Nown, since
in both places it states 11own7 %y 1M1 (which indicates that it was X277 nvw2).

- TaNivh NYWA $RUN PNIUNN YY 19aN MYNT YRYUN
It seems from our X3 that the phrase J12wnm Yy m9»7 indicates that the 1own
was taken at the time of the loan.

mooIn asks:
= NP Caxw Hrnnn N1 0w R, o) NIYN PIDIT NNIM

And it is astounding! For in n9w:7 p75 the X7n3 states -
- 20nwn 19N 197 525 PMIVY 901NN PIYNN DY 19530 NN NIINN )N

We learnt in a mw», ‘one who is Pown ®» 199an nR M3, or one who delivers

his notes of debt to 7''92, in these two cases N°y*2w is not vnwn’ -
- “onys s394 >1%Y 5397 DIVN VRYN 1PN PNIYNN YY NIYPNT BNN Y9I

And the X3 explains there the reason w»wn2 1K Pownm Yy M9, is because the

m>» acquired the }1>w» on account of the ruling of prx> ', This concludes the
citation from the X713 there. M0IN asks -
= INNIVN NYWA NHY NIN PNYY 229 998D XD XM

But >''1 did not say that 10wn 7P 1"y, only if it was a IRY?57 nywsa KW 10w, but

not by a X7 NYW1A NIOWn -
= DHRYN 1IN INNITN NYYA 19IRT “¥Iwn Pavnn Y

However the mi1wn, which stated powan Y mbvnan, indicates that even if it was a
IR NYRa 1Own it is also not wawR! Why is it not vawn; he was not 7P the Nown?!

! See %y 7"7 X,20 *"w1. We cannot say that 121 *PX X7, means that in both cases it refers to a X7 NYW3A KW 1OWH,
since MO maintains *127 71"73, that by a X7 NYW2 ROW 10wWn he is a "w even according to X",

? He may collect his debt even after n°y>aw passed.

? Since the mv» acquired the 112wn before 7w mw, it is as if he already collected his debt by taking the 119w; later he
is merely exchanging the 11own (which is his) for payment from the m?. See (however) footnote # 8.

4515 derives from the P09 of [PTX 7N T (in »,72 [X¥N] 0°727) that a n"va acquires ownership of the 115w (so he is
liable for it if it is lost or stolen). The ruling of > applies only to a X127 NYW2 ROW NOWR as MO0 points out.

> See footnote # 1.

1
TosfosInEnglish.com



XM 7a"7'01N 2,80 »"2 702

N1B0IN answers:
- 5RY 939411 539135 195 %3P ANRIYA NYYWA KOV 11997 91399 U

And one can say; that since nNW7 nywa X the Mo acquires the Nown

completely, because of ''9, so -
- 5753 PN SY XYY AU NITAYY DIYR TNAYY RIN 1939 NPT 59) DNIYA Nywa

nRY? nywa as well, even though the mn has no 1p in the Nown, but merely a
lien (against it), this Tvapw is sufficiently strong that it should be considered X9
7772 78 Y2 (but not of your brother when it is in your hand).

moon offers a corollary:’
= 18190 DY 99930 MYNY INIY? 22D (pny 3972 Ynnnn M7 0w 3,85 97 0oy NYY DI P93 199

And similarly in 7y %> 779 regarding a »Xw> who lent money to a 5121 for his

Y the 98w took the yan of the »151 as a (AX?7 NYw2) 110W»; the rule is -
- DDA 12ININRTY oNY %397 DIVUN 1Yy 921y

The %70 transgresses the prohibition of Xx7> 921 787> 92 on this y»n which he

took as a 71Ow»n because of v''9, as the X 1) states there (even though it was a 110wn

TR1?7 nywa); we will need to say -
= INIVYI YWY AVUNY ANITN NYYWA NITIAYY N np AN NYVa NHYUY 1922 1) 0NN

There too, since X7 nywsa X>w he acquires the 115wWn completely; his 71252 on
the mxY9m nywa own is sufficiently effective that this 110w be considered as if it
belongs to a »X=w> and therefore he is liable for *"21>"2.

mooIn takes this concept of T2Yw 0°9X in the opposite direction:'?

% This means that he is liable for 772X 72°33. One who is liable for an object is deemed its owner (even if it is not
actually his [like the 15wn]), for the owner is the (only) one who suffers from the loss of his object. [However, the
77 is not liable for 101X even X127 NYwa X7w (according to 'on [see 11 1" ‘010 2,0 PwTR where the dispute
between *"w7 and '01n in this regard is discussed there]), but nevertheless he is considered to be 1P the 1own ].

" The m9n does not own the (777 nYywa) 11own in the sense that he liable for it; however he has a lien against it,
meaning that he can hold on to it until his loan is paid. This lien gives him sufficient leverage to exempt the Mo
from v nw. See ‘Thinking it over’ # 3.

¥ The amn writes regarding mvnw (in 3,00 [IX7] 0°927) T LVAWN PR DX T2 7 WX (and that which you have by
your brother, your hand should let go), meaning any money which is owed to you (money which you have by your
brother) you must forfeit. The *190 interprets this 2109 to mean that only this which is 7nX nX (if the loan is by your
brother) you have to be vnawn, but not 772 1R 2w; if it is 77°2 (like a 119wn) there is no 17 of AW, [This is different
from what was mentioned in footnote # 3 (which would only apply by a X127 nywa 85w 11own).]

% There will be a difference, however: by v nw the concept of 1YY 7K is effective even X7p% (that n°y*aw is not
wnwn), but by ynan it is used X w7 (that he is *"21°"22 21). See footnote # 12.

' One is only 9215 on X¥»® 21 XY 92 on a0 which belongs to you, but not on y»n which belongs to others (the
word 77 excludes ynn which does not belong to you). However if you are responsible for the ynn (you are liable for
77°2X) 712°13), you are 12 on "'21°"2.

" ome 9 renders a (NRZA NYWA XKOW) NOWAR DY M a w"w; he is 77K 72012 20

"2 n9oIn maintains that 772y 29K (by a AX nywa Nown) is valid even X7p%, not only X, We saw this by
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- 90N 790 NY P30 XY INIWID 5997 INY N 18NN YY INIYWY 1YY 999 19
And similarly, a 121 who lent money to a »X=w> for his y72n (the "33 took the
v of a NP nYywa Xow] PRI as a Nown); were it not for the rule that a "21
cannot acquire a 1Own from a YX"w», the y»n would not be forbidden because
Town AP 1"y, so the yan (hypothetically) belongs to the >33, if we would disregard the rule the

1P KD DRI M *701; so not only would the 787w not be 12w if it was INRI? NYw3A KHWw 115wn, but -
= 9P NDTINNIVN NYYIA 129VUN 9N

Even if the >721 was WnRW nywa uown, where the "M>1 is not prx° "7 mp,
nevertheless -
= 59957 AYAYY DIUN 1IN M) ANIYN NYWA NP NN DNYD NYYWA XYYT 199

Since 1NNRW7 nywsa XYW the *751 would be m13p (hypothetically), so even nywa

781957 the 712w of the v51 is strong enough -
- 1939 708> NYY

That the 5% will not be required to destroy the yurm -
- by 153 N3P INIYT MNT 2N Y 9N

And even though this y»n belongs to the »X=w> and we ‘can read it’ Tow it is

yours -
- 5595935 95 M¥IWA NIN 29901 XY NN N9 NP 1YPANT DY Yan

Nevertheless, since the po2 limited the liability of yan 20°X by stating Nx»> K,
therefore one is not liable for the M10°X of Xx¥n»° 521 X7 2, unless it is completely

accessible to him -
- 5181 25w RY 59937 NYHAYY DIYNT 1199

And since the T2yw of the 9121 is strong, therefore the y»r which is a nyw31) 11own
TX1777) by the 121, that v is not considered 5137, so the 9% 2w will not be >"21>"2 72w —

mooIn offers support that &¥»° K7 limits the liability of P& W Sw 1¢nnm:
- 9925 DY PN 709299 415 (1m0 Snnnn 101 0w 8 91 CEINDOT NP 5993 139N 5133 5979

W (see footnote # 9) but not by y»n, so nvoIN will show now how it can be (theoretically) applied X795 to yan as
well.

1 See the xm3 there that 737 X2 X PXWw™ *33; the 21 cannot acquire the (WNXY2A NYWA X9W) Nown from a HRW.
Since the X723 there rules that the YRW° is 72W since 71 X2 HX W 33, this indicates that if 73p YR n >121, the
5% would not be 221 even if it was IXY?7 nywa (which is the case the X7n3 is discussing there).

" This is especially so, since the M of this Y21 is on the 91w and not on the ™31

' The word 72 by itself would indicate that if the y»n belongs to the X%, he is always 721 on *"21>"2; however the
word R¥»° limits the liability of a YR7w” (even on his own Y1) to a case where it is 181, See *wX 27 there in °nod.

' See “Thinking it over’ # 2

' See “Thinking it over’ # 1.

' See »"wn there 7> 1", who has a different interpretation of 12 1% 71, so m2oWn proof would not be valid.

" This means he designated this house/room exclusively for the 131 (5w 132r).
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And indeed we also say this in the first P25 of 2’0 noon, ‘if the “Xw» specified
a house for the >121 (to store the ynn), the 987w is not obligated to destroy’ the yxrn -

- m»anx YapT 1199 YNIWO HYS 59135 2SWNT 23 YY 9N
Even though it is considered the y»n of the »X=w, since the %> accepted

responsibility for the loss of the y»m -
$IDEN NN 1IN 921D N7 1190 DIPNI Yon

Nevertheless since he was n°2 Y9 71, it is not 112» by the “xw°. This proves that Tow
alone is insufficient it must also be ™Xn in order to transgress >"21°"2.

SUMMARY
Since the 11"va is 71 the IR177 nYwa XOW NOwn, the Tavw of a aRIYI nYwa NOWn is
sufficient to exempt him from 7v»w and make him liable for >721 5w x¥n1.

THINKING IT OVER

1. MmooIn writes that by a YR YW wnn Hy MLnw >121, the X would not be liable
(hypothetically) even by a X127 nywa Nown, since "¥n 1WA XY 1917 P7avw oo,
Why cannot we say that he would not be liable (really) since it is 17¥X %7 11°X?!

2. In the case of a 1¥nn7 %y 212 MW YR the YR is 21, simply because 09K
772avw; however in the case of a 1X»M %Y SRWPH MW 711, the YR is Mo,
because it is "% 1°X, but not because it is 7°712yW 2°7% alone. Why?!

3. Why does miooin find it necessary to say that since X127 nywa X>w, he is 1P
"5 nxe, therefore TAYY D9R M1 X120 nywa;** when mson could have said
simply 7°T2vw 29K, what is the connection with 7XY27 nywa xow >"7 7np?!>

%0 Generally we consider the owner of the 21 to be the one who has n™nx on the yan. However by na 12 7 it is
different since it is Y2¥X "1¥n K.

*! See footnote # 15.

2 See footnote # 7.

> See TN wIon WK # 112-5.
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